

Ostrowski-Grüss-Čebyšev Type Inequalities Involving Several Functions*

Shiow-Ru Hwang[†]

China Institute of Technology, Nankang, Taipei, 11522 Taiwan

Received July 28, 2005, Accepted August 10, 2005.

Abstract

In this paper, we establish some Ostrowski-Grüss-Čebyšev type inequalities involving several functions whose modulus of the derivatives are convex functions.

Keywords and Phrases: *Ostrowski inequality, Grüss inequality, Čebyšev inequality, Convex functions, Log-convex functions.*

1. Introduction

Throughout, let

$$\|h'\|_{\infty} := \sup_{t \in (a,b)} |h'(t)|,$$

$$S(f, g) = f(x)g(x) - \frac{1}{2(b-a)} \left[g(x) \int_a^b f(t) dt + f(x) \int_a^b g(t) dt \right],$$

and

$$T(f, g) = \frac{1}{b-a} \int_a^b f(x)g(x) dx - \left(\frac{1}{b-a} \int_a^b f(x) dx \right) \left(\frac{1}{b-a} \int_a^b g(x) dx \right)$$

*2000 *Mathematics Subject Classification.* 26D15, 26D20.

[†]E-mail: hsr@cc.chit.edu.tw

where $x \in [a, b]$, h' exists and is bounded on (a, b) and f, g are integrable on $[a, b]$.

The *Ostrowski's inequality* [5] states that if f' exists and is bounded on (a, b) , then, for all $x \in [a, b]$, we have the inequality

$$\left| \int_a^b f(t) dt - f(x)(b-a) \right| \leq \left[\frac{1}{4}(b-a)^2 + \left(x - \frac{a+b}{2} \right)^2 \right] \|f'\|_\infty. \quad (1.1)$$

The *Čebyšev's inequality* [6] states that if $f', g' \in L_\infty[a, b]$, then we have the inequality

$$|T(f, g)| \leq \frac{1}{12} (b-a)^2 \|f'\|_\infty \|g'\|_\infty. \quad (1.2)$$

The *Grüss's inequality* [6], states that if $m \leq f(x) \leq M$ and $n \leq g(x) \leq N < \infty$ for all $x \in [a, b]$, then we have the inequality

$$|T(f, g)| \leq \frac{1}{4} (M-m)(N-n), \quad (1.3)$$

where m, M, n, N are real numbers.

For some recent results which generalize, improve and extend the inequalities (1.1)-(1.3), see [1 – 11].

Recall the following definitions of a convex function and a log-convex function:

Let $f : [a, b] \rightarrow R$ and $g : [a, b] \rightarrow (0, \infty)$. The functions f and g are called convex on $[a, b]$ and log-convex on $[a, b]$, respectively, if

$$f(\lambda x + (1-\lambda)y) \leq \lambda f(x) + (1-\lambda)f(y),$$

and

$$f(tx + (1-t)y) \leq [f(x)]^\lambda [f(y)]^{1-\lambda}$$

for all $x, y \in [a, b]$ and $\lambda \in [0, 1]$.

In [10], Pachpatte established the following four theorems about Ostrowski-Grüss-Čebyšev type inequalities:

Theorem A. Let $f, g : [a, b] \rightarrow R$ be absolutely continuous functions on $[a, b]$.

(a₁) If $|f'|$ and $|g'|$ are convex on $[a, b]$, then

$$|S(f, g)| \leq \frac{1}{4} \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] (b-a) \\ \times \{ |g(x)| [|f'(x)| + \|f'\|_\infty] + |f(x)| [|g'(x)| + \|g'\|_\infty] \}$$

for $x \in [a, b]$.

(a₂) If $|f'|$ and $|g'|$ are log-convex on $[a, b]$, then

$$|S(f, g)| \leq \frac{1}{2(b-a)} \left\{ |g(x)| |f'(x)| \int_a^b |x-t| \left(\frac{A-1}{\ln A} \right) dt \right. \\ \left. + |f(x)| |g'(x)| \int_a^b |x-t| \left(\frac{B-1}{\ln B} \right) dt \right\}$$

for $x \in [a, b]$, where

$$A = \frac{|f'(t)|}{|f'(x)|} \quad \text{and} \quad B = \frac{|g'(t)|}{|g'(x)|}. \tag{1.4}$$

Theorem B. Let f and $g : [a, b] \rightarrow R$ be absolutely continuous functions on $[a, b]$.

(b₁) If $|f'|$ and $|g'|$ are convex on $[a, x]$ and $[x, b]$, then

$$|S(f, g)| \leq \frac{1}{2} \{ |g(x)| F(x) + |f(x)| G(x) \},$$

for $x \in [a, b]$, where

$$F(x) = \frac{1}{6} \left[|f'(a)| \left(\frac{x-a}{b-a} \right)^2 + |f'(b)| \left(\frac{b-x}{b-a} \right)^2 \right. \\ \left. + \left\{ 1 + 4 \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right\} |f'(x)| \right] (b-a)$$

and

$$G(x) = \frac{1}{6} \left[|g'(a)| \left(\frac{x-a}{b-a} \right)^2 + |g'(b)| \left(\frac{b-x}{b-a} \right)^2 + \left\{ 1 + 4 \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right\} |g'(x)| \right] (b-a)$$

for $x \in [a, b]$.

(b₂) If $|f'|$ and $|g'|$ are log-convex on $[a, x]$ and $[x, b]$, then

$$|S(f, g)| \leq \frac{1}{2} [|g(x)| P(x) + |f(x)| Q(x)],$$

for $x \in [a, b]$, where

$$P(x) = (b-a) \left[|f'(a)| \left(\frac{x-a}{b-a} \right)^2 \frac{A_1 \ln A_1 + 1 - A_1}{(\ln A_1)^2} + |f'(b)| \left(\frac{b-x}{b-a} \right)^2 \frac{B_1 \ln B_1 + 1 - B_1}{(\ln B_1)^2} \right],$$

$$Q(x) = (b-a) \left[|g'(a)| \left(\frac{x-a}{b-a} \right)^2 \frac{A_2 \ln A_2 + 1 - A_2}{(\ln A_2)^2} + |g'(b)| \left(\frac{b-x}{b-a} \right)^2 \frac{B_2 \ln B_2 + 1 - B_2}{(\ln B_2)^2} \right],$$

and

$$A_1 = \frac{|f'(x)|}{|f'(a)|}, \quad B_1 = \frac{|f'(x)|}{|f'(b)|}, \quad (1.5)$$

$$A_2 = \frac{|g'(x)|}{|g'(a)|}, \quad B_2 = \frac{|g'(x)|}{|g'(b)|}, \quad (1.6)$$

for $x \in [a, b]$.

Theorem C. Let f and $g : [a, b] \rightarrow R$ be absolutely continuous functions on $[a, b]$.

(c₁) If $|f'|$ and $|g'|$ are convex on $[a, b]$, then

$$|T(f, g)| \leq \frac{1}{4(b-a)^2} \int_a^b [|g(x)| [|f'(x)| + \|f'\|_\infty] + |f(x)| [|g'(x)| + \|g'\|_\infty]] E(x) dx,$$

where

$$E(x) = \frac{(x-a)^2 + (b-x)^2}{2} \tag{1.7}$$

for $x \in [a, b]$.

(c₂) If $|f'|$ and $|g'|$ are log-convex on $[a, b]$, then

$$|T(f, g)| \leq \frac{1}{2(b-a)^2} \int_a^b \left[|g(x)| \int_a^b |x-t| |f'(x)| \left(\frac{A-1}{\ln A} \right) dt + |f(x)| \int_a^b |x-t| |g'(x)| \left(\frac{B-1}{\ln B} \right) dt \right] dx$$

where A, B are defined as in (1.4).

Theorem D. Let f and $g : [a, b] \rightarrow R$ be absolutely continuous functions on $[a, b]$.

(d₁) If $|f'|$ and $|g'|$ are convex on $[a, b]$, then

$$|T(f, g)| \leq \frac{1}{2} \int_a^b \left[\left(\frac{x-a}{b-a} \right)^2 \left[|g(x)| \left\{ \frac{1}{6} |f'(a)| + \frac{1}{3} |f'(x)| \right\} + |f(x)| \left\{ \frac{1}{6} |g'(a)| + \frac{1}{3} |g'(x)| \right\} \right] + \left(\frac{x-a}{b-a} \right)^2 |g(x)| \left\{ \frac{1}{3} |f'(x)| + \frac{1}{6} |f'(b)| \right\} + |f(x)| \left\{ \frac{1}{3} |g'(x)| + \frac{1}{6} |g'(b)| \right\} \right] dx,$$

(d₂) If $|f'|$ and $|g'|$ are log-convex on $[a, x]$ and $[x, b]$, then

$$|T(f, g)| \leq \frac{1}{2} \int_a^b \left[\left(\frac{x-a}{b-a} \right)^2 \left\{ |g(x)| |f'(a)| \frac{A_1 \ln A_1 + 1 - A_1}{(\ln A_1)^2} \right. \right.$$

$$\begin{aligned}
& + |f(x)| |g'(a)| \frac{A_2 \ln A_2 + 1 - A_2}{(\ln A_2)^2} \Big\} \\
& + \left(\frac{x-a}{b-a} \right)^2 \left\{ |g(x)| |f'(b)| \frac{B_1 \ln B_1 + 1 - B_1}{(\ln B_1)^2} \right. \\
& \quad \left. + |f(x)| |g'(b)| \frac{B_2 \ln B_2 + 1 - B_2}{(\ln B_2)^2} \right\} dx
\end{aligned}$$

where A_1, B_1 and A_2, B_2 are defined as in (1.5) and (1.6), respectively.

In this paper, we establish some inequalities which generalize Theorems A-D.

2. Main Results

Throughout in this section, let $\alpha_i \in R$ ($i = 1, \dots, n$), $\alpha = (\alpha_1, \dots, \alpha_n)$ with $\sum_{i=1}^n \alpha_i = 1$ and let

$$\begin{aligned}
& S_\alpha(f_1, \dots, f_n) \\
& = \prod_{i=1}^n f_i(x) - \frac{1}{(b-a)} \sum_{i=1}^n \left(\prod_{j=1, j \neq i}^n \alpha_j f_j(x) \int_a^b f_i(t) dt \right),
\end{aligned}$$

and

$$\begin{aligned}
T_\alpha(f_1, \dots, f_n) & = \frac{1}{b-a} \int_a^b \prod_{i=1}^n f_i(x) dx \\
& \quad - \sum_{i=1}^n \left[\left(\frac{1}{b-a} \int_a^b \prod_{j=1, j \neq i}^n \alpha_j f_j(x) dx \right) \left(\frac{1}{b-a} \int_a^b f_i(x) dx \right) \right]
\end{aligned}$$

where $x \in [a, b]$, and f_i ($i = 1, \dots, n$) are integrable on $[a, b]$.

In order to prove our results, we need the following identities proved in [1] and [2], respectively:

$$f(x) = \frac{1}{b-a} \int_a^b f(t) dt + \frac{1}{b-a} \int_a^b (x-t) \left[\int_0^1 f'[(1-\lambda)x + \lambda t] dt \right] d\lambda \quad (2.1)$$

and

$$f(x) = \frac{1}{b-a} \int_a^b f(t) dt + (x-a)^2 \frac{1}{b-a} \int_0^1 \lambda f'[(1-\lambda)a + \lambda x] d\lambda - (b-x)^2 \frac{1}{b-a} \int_0^1 \lambda f'[\lambda x + (1-\lambda)b] d\lambda, \tag{2.2}$$

for $x \in [a, b]$ where $f : [a, b] \rightarrow R$ is an absolutely continuous function on $[a, b]$.

Theorem 1. Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.

(a) If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \frac{b-a}{2} \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] \times \sum_{i=1}^n \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) \right], \tag{2.3}$$

for $x \in [a, b]$.

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| |f'_i(x)| \int_a^b |x-t| \left[\left(\frac{D_i - 1}{\ln D_i} \right) \right] dt \right\} \tag{2.4}$$

for $x \in [a, b]$, where

$$D_i = \frac{|f'_i(t)|}{|f'_i(x)} \quad (i = 1, \dots, n) \tag{2.5}$$

for $x, t \in [a, b]$.

Proof. Using (2.1), we have the identities

$$f_1(x) - \frac{1}{b-a} \int_a^b f_1(t) dt$$

$$= \frac{1}{b-a} \int_a^b (x-t) \left[\int_0^1 f_1' [(1-\lambda)x + \lambda t] d\lambda \right] dt, \quad (2.6.1)$$

$$\begin{aligned} f_2(x) - \frac{1}{b-a} \int_a^b f_2(t) dt \\ = \frac{1}{b-a} \int_a^b (x-t) \left[\int_0^1 f_2' [(1-\lambda)x + \lambda t] d\lambda \right] dt, \end{aligned} \quad (2.6.2)$$

⋮

$$\begin{aligned} f_n(x) - \frac{1}{b-a} \int_a^b f_n(t) dt \\ = \frac{1}{b-a} \int_a^b (x-t) \left[\int_0^1 f_n' [(1-\lambda)x + \lambda t] d\lambda \right] dt \end{aligned} \quad (2.6.n)$$

for $x \in [a, b]$. Multiplying both sides of (2.6.i) by $\prod_{j=1, j \neq i}^n \alpha_j f_j(x)$ ($i = 1, \dots, n$) and adding the resulting identities, we get

$$\begin{aligned} S_\alpha(f_1, \dots, f_n) \\ = \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n \alpha_j f_j(x) \int_a^b (x-t) \left[\int_0^1 f_i' [(1-\lambda)x + \lambda t] d\lambda \right] dt \right\}. \end{aligned} \quad (2.7)$$

(a) Since $|f_i'|$ ($i = 1, \dots, n$) are convex on $[a, b]$, from (2.7) we get that

$$\begin{aligned} & |S_\alpha(f_1, \dots, f_n)| \\ & \leq \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \int_a^b |x-t| \left[\int_0^1 |f_i' [(1-\lambda)x + \lambda t]| d\lambda \right] dt \right\} \\ & \leq \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \int_a^b |x-t| \left[\int_0^1 (1-\lambda) |f_i'(x)| + \lambda |f_i'(t)| d\lambda \right] dt \right\} \\ & = \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \int_a^b |x-t| \frac{1}{2} (|f_i'(x)| + |f_i'(t)|) dt \right\} \end{aligned}$$

$$\begin{aligned} &\leq \frac{1}{2(b-a)} \int_a^b |x-t| dt \sum_{i=1}^n \left\{ \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) \right\} \\ &= \frac{(x-a)^2 + (b-x)^2}{4(b-a)} \sum_{i=1}^n \left\{ \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) \right\} \\ &= \frac{b-a}{2} \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] \sum_{i=1}^n \left\{ \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) \right\} \end{aligned}$$

which is the inequality (2.3).

(b) Since $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, from (2.7) we get that

$$\begin{aligned} &|S_\alpha(f_1, \dots, f_n)| \\ &\leq \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \int_a^b |x-t| \left[\int_0^1 |f'_i[(1-\lambda)x + \lambda t]| d\lambda \right] dt \right\} \\ &\leq \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \int_a^b |x-t| \left[\int_0^1 [|f'_i(x)|]^{1-\lambda} [|f'_i(t)|]^\lambda d\lambda \right] dt \right\} \\ &= \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \int_a^b |x-t| \left[|f'_i(x)| \int_0^1 \left[\frac{|f'_i(t)|}{|f'_i(x)|} \right]^\lambda d\lambda \right] dt \right\} \\ &= \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| |f'_i(x)| \int_a^b |x-t| \left[\left(\frac{\frac{|f'_i(t)|}{|f'_i(x)|} - 1}{\ln \frac{|f'_i(t)|}{|f'_i(x)|}} \right) \right] dt \right\} \\ &= \sum_{i=1}^n \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| |f'_i(x)| \int_a^b |x-t| \left[\left(\frac{D_i - 1}{\ln D_i} \right) \right] dt \right\} \end{aligned}$$

which is the inequality (2.4), where D_i ($i = 1, \dots, n$) are defined as in (2.5)..

This completes the proof.

Let $\alpha = (\frac{1}{n}, \dots, \frac{1}{n})$ in Theorem 1, then we have the following corollary:

Corollary 1. Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.

(a) If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \frac{b-a}{2n} \left[\frac{1}{4} + \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right] \\ \times \sum_{i=1}^n \left[\prod_{j=1, j \neq i}^n |f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) \right],$$

for $x \in [a, b]$.

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \\ \leq \sum_{i=1}^n \frac{1}{n} \left\{ \frac{1}{b-a} \prod_{j=1, j \neq i}^n |f_j(x)| |f'_i(x)| \int_a^b |x-t| \left[\left(\frac{D_i-1}{\ln D_i} \right) \right] dt \right\}$$

for $x \in [a, b]$, where D_i ($i = 1, \dots, n$) are defined as in (2.5).

Remark 1. If we choose $n = 2$, then Corollary 1 reduces to Theorem A.

Theorem 2. Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.

(a) If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, x]$ and $[x, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left(\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| F_i(x) \right) \quad (2.8)$$

where

$$F_i(x) = \frac{b-a}{6} \left[|f'_i(a)| \left(\frac{x-a}{b-a} \right)^2 + |f'_i(b)| \left(\frac{b-x}{b-a} \right)^2 \right. \\ \left. + \left(1 + 4 \left(\frac{x - \frac{a+b}{2}}{b-a} \right)^2 \right) |f'_i(x)| \right] \quad (2.9)$$

for $x \in [a, b]$ and $i = 1, \dots, n$.

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left(\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| H_i(x) \right) \tag{2.10}$$

where

$$I_i = \frac{|f'_i(x)|}{|f'_i(a)|}, \quad J_i = \frac{|f'_i(x)|}{|f'_i(b)|} \quad (i = 1, \dots, n) \tag{2.11}$$

and

$$H_i(x) = (b-a) \left[|f'_i(a)| \left(\frac{x-a}{b-a} \right)^2 \frac{I_i \ln I_i + 1 - I_i}{(\ln I_i)^2} + |f'_i(b)| \left(\frac{b-x}{b-a} \right)^2 \frac{J_i \ln J_i + 1 - J_i}{(\ln J_i)^2} \right] \tag{2.12}$$

for $x \in [a, b]$ and $i = 1, \dots, n$.

Proof. Using (2.2), we have the identities

$$\begin{aligned} f_1(x) - \frac{1}{b-a} \int_a^b f_1(t) dt &= \frac{(x-a)^2}{b-a} \int_0^1 \lambda f'_1[(1-\lambda)a + \lambda x] d\lambda \\ &\quad - \frac{(b-x)^2}{b-a} \int_0^1 \lambda f'_1[\lambda x + (1-\lambda)b] d\lambda, \end{aligned} \tag{2.13.1}$$

$$\begin{aligned} f_2(x) - \frac{1}{b-a} \int_a^b f_2(t) dt &= \frac{(x-a)^2}{b-a} \int_0^1 \lambda f'_2[(1-\lambda)a + \lambda x] d\lambda \\ &\quad - \frac{(b-x)^2}{b-a} \int_0^1 \lambda f'_2[\lambda x + (1-\lambda)b] d\lambda, \end{aligned} \tag{2.13.2}$$

⋮

$$\begin{aligned}
f_n(x) &= \frac{1}{b-a} \int_a^b f_n(t) dt \\
&= \frac{(x-a)^2}{b-a} \int_0^1 \lambda f'_n [(1-\lambda)a + \lambda x] d\lambda \\
&\quad - \frac{(b-x)^2}{b-a} \int_0^1 \lambda f'_n [\lambda x + (1-\lambda)b] d\lambda, \tag{2.13.n}
\end{aligned}$$

for $x \in [a, b]$. Multiplying both sides of (2.13.i) by $\prod_{j=1, j \neq i}^n \alpha_j f_j(x)$ ($i = 1, \dots, n$) and adding the resulting identities, we get

$$\begin{aligned}
&S_\alpha(f_1, \dots, f_n) \\
&= \sum_{i=1}^n \left\{ \prod_{j=1, j \neq i}^n \alpha_j f_j(x) \left[\frac{(x-a)^2}{b-a} \int_0^1 \lambda f'_i [(1-\lambda)a + \lambda x] d\lambda \right. \right. \\
&\quad \left. \left. - \frac{(b-x)^2}{b-a} \int_0^1 \lambda f'_i [\lambda x + (1-\lambda)b] d\lambda \right] \right\} \tag{2.14}
\end{aligned}$$

Using (2.14), we get that

$$|S_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| M_i(x) \right] \tag{2.15}$$

where

$$\begin{aligned}
M_i(x) &= \frac{(x-a)^2}{b-a} \int_0^1 \lambda |f'_i [(1-\lambda)a + \lambda x]| d\lambda \\
&\quad + \frac{(b-x)^2}{b-a} \int_0^1 \lambda |f'_i [\lambda x + (1-\lambda)b]| d\lambda \tag{2.16}
\end{aligned}$$

for $x \in [a, b]$ and $i = 1, \dots, n$.

(a) Since $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, x]$ and $[x, b]$, we have that

$$\begin{aligned}
&\int_0^1 \lambda |f'_i [(1-\lambda)a + \lambda x]| d\lambda \\
&\leq |f'_i(a)| \int_0^1 \lambda(1-\lambda) d\lambda + |f'_i(x)| \int_0^1 \lambda^2 d\lambda
\end{aligned}$$

$$= \frac{1}{6} |f'_i(a)| + \frac{1}{3} |f'_i(x)| \tag{2.17}$$

and

$$\begin{aligned} & \int_0^1 \lambda |f'_i[\lambda x + (1 - \lambda)b]| d\lambda \\ & \leq |f'_i(x)| \int_0^1 \lambda^2 d\lambda + |f'_i(b)| \int_0^1 \lambda(1 - \lambda) d\lambda \\ & = \frac{1}{3} |f'_i(x)| + \frac{1}{6} |f'_i(b)| \end{aligned} \tag{2.18}$$

where $x \in [a, b]$ and $i = 1, \dots, n$.

From (2.16)-(2.18), we get that

$$\begin{aligned} M_i(x) & \leq \frac{(x - a)^2}{b - a} \left[\frac{1}{6} |f'_i(a)| + \frac{1}{3} |f'_i(x)| \right] \\ & \quad + \frac{(b - x)^2}{b - a} \left[\frac{1}{3} |f'_i(x)| + \frac{1}{6} |f'_i(b)| \right] \\ & = \frac{b - a}{6} \left[|f'_i(a)| \left(\frac{x - a}{b - a} \right)^2 + |f'_i(b)| \left(\frac{b - x}{b - a} \right)^2 \right. \\ & \quad \left. + 2 |f'_i(x)| \left(\left(\frac{x - a}{b - a} \right)^2 + \left(\frac{b - x}{b - a} \right)^2 \right) \right] \\ & = F_i(x) \end{aligned} \tag{2.19}$$

where $x \in [a, b]$ and $i = 1, \dots, n$.

Using (2.15) and (2.19), we get the inequality (2.8).

(b) Since $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, we have that

$$\begin{aligned} & \int_0^1 \lambda |f'_i[(1 - \lambda)a + \lambda x]| d\lambda \\ & \leq \int_0^1 \lambda |f'_i(a)|^{1-\lambda} |f'_i(x)|^\lambda d\lambda \\ & = |f'_i(a)| \int_0^1 \lambda I_i^\lambda d\lambda \end{aligned}$$

$$= |f'_i(a)| \frac{I_i \ln I_i + 1 - I_i}{(\ln I_i)^2} \quad (2.20)$$

and

$$\begin{aligned} & \int_0^1 \lambda |f'_i[\lambda x + (1-\lambda)b]| d\lambda \\ & \leq \int_0^1 \lambda |f'_i(x)|^\lambda |f'_i(b)|^{1-\lambda} d\lambda \\ & = |f'_i(b)| \int_0^1 \lambda J_i^\lambda d\lambda \\ & = |f'_i(b)| \frac{I_i \ln J_i + 1 - J_i}{(\ln J_i)^2} \end{aligned} \quad (2.21)$$

where $x \in [a, b]$ and $i = 1, \dots, n$.

From (2.16), (2.20) and (2.21), we get

$$M_i(x) \leq H_i(x) \quad (2.22)$$

where $x \in [a, b]$ and $i = 1, \dots, n$.

Using (2.15) and (2.22), we get the inequality (2.10).

This completes the proof.

Let $\alpha = (\frac{1}{n}, \dots, \frac{1}{n})$ in Theorem 2, then we have the following corollary:

Corollary 2. Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.

(a) If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, x]$ and $[x, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \frac{1}{n} \sum_{i=1}^n \left(\prod_{j=1, j \neq i}^n |f_j(x)| F_i(x) \right)$$

where $F_i(x)$ is defined as in (2.9) for $x \in [a, b]$ and $i = 1, \dots, n$.

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, then

$$|S_\alpha(f_1, \dots, f_n)| \leq \frac{1}{n} \sum_{i=1}^n \left(\prod_{j=1, j \neq i}^n |f_j(x)| H_i(x) \right)$$

where $H_i(x)$ is defined as in (2.12) for $x \in [a, b]$ and $i = 1, \dots, n$.

Remark 2. If we choose $n = 2$, then Corollary 2 reduces to Theorem B.

Theorem 3. Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.

(a) If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then

$$|T_\alpha(f_1, \dots, f_n)| \leq \frac{1}{2(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) E(x) \right] dx \right\} \quad (2.23)$$

where $E(x)$ is defined as in (1.7) for $x \in [a, b]$.

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, then

$$|T_\alpha(f_1, \dots, f_n)| \leq \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \times \int_a^b \left(|x-t| |f'_i(x)| \left(\frac{D_i-1}{\ln D_i} \right) \right) dt \right] dx \right\} \quad (2.24)$$

where D_i ($i = 1, \dots, n$) are defined as in (2.5).

Proof. From the hypotheses of f_i ($i = 1, \dots, n$), the identity (2.7) holds. Integrating both sides of (2.7) with respect to x from a to b and rewriting it, we have

$$T_\alpha(f_1, \dots, f_n) = \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n \alpha_j f_j(x) \times \int_a^b (x-t) \left(\int_0^1 f'_i[(1-\lambda)x + \lambda t] d\lambda \right) dt \right] dx \right\}. \quad (2.25)$$

(a) Since $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, from (2.25) we get that

$$|T_\alpha(f_1, \dots, f_n)|$$

$$\begin{aligned}
&\leq \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \right. \right. \\
&\quad \left. \left. \times \int_a^b \left(|x-t| \int_0^1 [(1-\lambda)|f'_i(x)| + \lambda|f'_i(t)|] d\lambda \right) dt \right] dx \right\} \\
&\hspace{20em} (2.26) \\
&= \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \right. \right. \\
&\quad \left. \left. \times \int_a^b \left(|x-t| \left[\frac{|f'_i(x)| + |f'_i(t)|}{2} \right] \right) dt \right] dx \right\} \\
&\leq \frac{1}{2(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \right. \right. \\
&\quad \left. \left. \times (|f'_i(x)| + \|f'_i\|_\infty) \int_a^b |x-t| dt \right] dx \right\} \\
&= \frac{1}{2(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) E(x) \right] dx \right\}
\end{aligned}$$

which is the inequality (2.23), where $E(x)$ is defined as in (1.7).

(b) Since $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, from (2.26) we get that

$$\begin{aligned}
&|T_\alpha(f_1, \dots, f_n)| \\
&\leq \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \right. \right. \\
&\quad \left. \left. \times \int_a^b \left(|x-t| \int_0^1 [\|f'_i(x)\|^{1-\lambda} \|f'_i(t)\|^\lambda] d\lambda \right) dt \right] dx \right\} \\
&= \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \right. \right. \\
&\quad \left. \left. \times \int_a^b \left(|x-t| |f'_i(x)| \int_0^1 \left[\frac{|f'_i(t)|}{|f'_i(x)|} \right]^\lambda d\lambda \right) dt \right] dx \right\}
\end{aligned}$$

$$= \frac{1}{(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \right. \right. \\ \left. \left. \times \int_a^b \left(|x-t| |f'_i(x)| \left(\frac{D_i-1}{\ln D_i} \right) \right) dt \right] dx \right\}$$

which is the inequality (2.24), where D_i ($i = 1, \dots, n$) are defined as in (2.5).

This completes the proof.

Let $\alpha = (\frac{1}{n}, \dots, \frac{1}{n})$ in Theorem 3, then we have the following corollary:

Corollary 3. *Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.*

(a) *If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then*

$$|T_\alpha(f_1, \dots, f_n)| \\ \leq \frac{1}{2n(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |f_j(x)| (|f'_i(x)| + \|f'_i\|_\infty) E(x) \right] dx \right\}$$

where $E(x)$ is defined as in (1.7) for $x \in [a, b]$.

(b) *If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, b]$, then*

$$|T_\alpha(f_1, \dots, f_n)| \\ \leq \frac{1}{n(b-a)^2} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |f_j(x)| \right. \right. \\ \left. \left. \times \int_a^b \left(|x-t| |f'_i(x)| \left(\frac{D_i-1}{\ln D_i} \right) \right) dt \right] dx \right\}$$

where D_i ($i = 1, \dots, n$) are defined as in (2.5).

Remark 3. *If we choose $n = 2$, then Corollary 3 reduces to Theorem C.*

Theorem 4. *Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.*

(a) *If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then*

$$|T_\alpha(f_1, \dots, f_n)|$$

$$\leq \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \left\{ \left(\frac{x-a}{b-a} \right)^2 \left(\frac{1}{6} |f'_i(a)| + \frac{1}{3} |f'_i(x)| \right) + \left(\frac{b-x}{b-a} \right)^2 \left(\frac{1}{3} |f'_i(x)| + \frac{1}{6} |f'_i(b)| \right) \right\} \right] dx \right\}. \quad (2.27)$$

(b) If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, then

$$|T_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \left\{ \left(\frac{x-a}{b-a} \right)^2 |f'_i(a)| \frac{I_i \ln I_i + 1 - I_i}{(\ln I_i)^2} + \left(\frac{b-x}{b-a} \right)^2 |f'_i(b)| \frac{J_i \ln J_i + 1 - J_i}{(\ln J_i)^2} \right\} \right] dx \right\} \quad (2.28)$$

where I_i, J_i ($i = 1, \dots, n$) are defined as in (2.11).

Proof. From the hypotheses of f_i ($i = 1, \dots, n$), the identity (2.14) holds. Integrating both sides of (2.14) with respect to x from a to b and rewriting it, we have

$$T_\alpha(f_1, \dots, f_n) = \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n \alpha_i f_j(x) \left[\frac{(x-a)^2}{b-a} \int_0^1 \lambda f'_i[(1-\lambda)a + \lambda x] d\lambda - \frac{(b-x)^2}{b-a} \int_0^1 \lambda f'_i[\lambda x + (1-\lambda)b] d\lambda \right] dx \right) \right\}. \quad (2.29)$$

(a) Since $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, from (2.29) we get that

$$|T_\alpha(f_1, \dots, f_n)| \leq \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n |\alpha_i f_j(x)| \left[\frac{(x-a)^2}{b-a} \int_0^1 \lambda |f'_i[(1-\lambda)a + \lambda x]| d\lambda + \frac{(b-x)^2}{b-a} \int_0^1 \lambda |f'_i[\lambda x + (1-\lambda)b]| d\lambda \right] dx \right) \right\} \quad (2.30)$$

$$\begin{aligned} &\leq \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \right. \right. \\ &\quad \times \left[\frac{(x-a)^2}{b-a} \int_0^1 (\lambda(1-\lambda) |f'_i(a)| + \lambda^2 |f'_i(x)|) d\lambda \right. \\ &\quad \left. \left. + \frac{(b-x)^2}{b-a} \int_0^1 (\lambda^2 |f'_i(x)| + \lambda(1-\lambda) |f'_i(b)|) d\lambda \right] dx \right\} \\ &= \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \left\{ \left(\frac{x-a}{b-a} \right)^2 \left(\frac{1}{6} |f'_i(a)| + \frac{1}{3} |f'_i(x)| \right) \right. \right. \right. \\ &\quad \left. \left. + \left(\frac{b-x}{b-a} \right)^2 \left(\frac{1}{3} |f'_i(x)| + \frac{1}{6} |f'_i(b)| \right) \right\} \right] dx \right\} \end{aligned}$$

which is the inequality (2.27).

(b) Since $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, from (2.30) we get that

$$\begin{aligned} &|T_\alpha(f_1, \dots, f_n)| \\ &\leq \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \left[\left(\frac{x-a}{b-a} \right)^2 \int_0^1 (\lambda [|f'_i(a)|]^{1-\lambda} [|f'_i(x)|]^\lambda) d\lambda \right. \right. \right. \\ &\quad \left. \left. + \left(\frac{b-x}{b-a} \right)^2 \int_0^1 (\lambda [|f'_i(x)|]^\lambda [|f'_i(b)|]^{1-\lambda}) d\lambda \right] dx \right\} \\ &= \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \left[\left(\frac{x-a}{b-a} \right)^2 \left(|f'_i(a)| \int_0^1 \lambda I_i^\lambda d\lambda \right) \right. \right. \right. \\ &\quad \left. \left. + \left(\frac{b-x}{b-a} \right)^2 \left(|f'_i(b)| \int_0^1 \lambda J_i^\lambda d\lambda \right) \right] dx \right\} \\ &= \sum_{i=1}^n \left\{ \int_a^b \left(\prod_{j=1, j \neq i}^n |\alpha_j f_j(x)| \left[\left(\frac{x-a}{b-a} \right)^2 |f'_i(a)| \frac{I_i \ln I_i + 1 - I_i}{(\ln I_i)^2} \right. \right. \right. \\ &\quad \left. \left. + \left(\frac{b-x}{b-a} \right)^2 |f'_i(b)| \frac{J_i \ln J_i + 1 - J_i}{(\ln J_i)^2} \right] dx \right\} \end{aligned}$$

which is the inequality (2.28), where I_i, J_i ($i = 1, \dots, n$) are defined as in (2.11).

This completes the proof.

Let $\alpha = (\frac{1}{n}, \dots, \frac{1}{n})$ in Theorem 4, then we have the following corollary:

Corollary 4. *Let $f_i : [a, b] \rightarrow R$ ($i = 1, \dots, n$) be absolutely continuous functions on $[a, b]$.*

(a) *If $|f'_i|$ ($i = 1, \dots, n$) are convex on $[a, b]$, then*

$$|T_\alpha(f_1, \dots, f_n)| \leq \frac{1}{n} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |f_j(x)| \left\{ \left(\frac{x-a}{b-a} \right)^2 \left(\frac{1}{6} |f'_i(a)| + \frac{1}{3} |f'_i(x)| \right) + \left(\frac{b-x}{b-a} \right)^2 \left(\frac{1}{3} |f'_i(x)| + \frac{1}{6} |f'_i(b)| \right) \right\} \right] dx \right\}.$$

(b) *If $|f'_i|$ ($i = 1, \dots, n$) are log-convex on $[a, x]$ and $[x, b]$, then*

$$|T_\alpha(f_1, \dots, f_n)| \leq \frac{1}{n} \sum_{i=1}^n \left\{ \int_a^b \left[\prod_{j=1, j \neq i}^n |f_j(x)| \left\{ \left(\frac{x-a}{b-a} \right)^2 |f'_i(a)| \frac{I_i \ln I_i + 1 - I_i}{(\ln I_i)^2} + \left(\frac{b-x}{b-a} \right)^2 |f'_i(b)| \frac{J_i \ln J_i + 1 - J_i}{(\ln J_i)^2} \right\} \right] dx \right\}$$

where I_i, J_i ($i = 1, \dots, n$) are defined as in (2.11).

Remark 4. *If we choose $n = 2$, then Corollary 4 reduces to Theorem D.*

References

- [1] N. S. Barnett, P. Cerone, S. S. Dragomir, M. R. Pinheiro and A. Sofo, Ostrowski type inequalities for functions whose modulus of derivatives are convex and applications, *RGMA Res. Rep. Coll.*, **5**(2)(2002), 219-231. [ONLINE: <http://rgmia.vu.edu.au/v5n2.html>]

- [2] P. Cerone and S. S. Dragomir, Ostrowski type inequalities for functions whose derivatives satisfy certain convexity assumptions, *Demonstratio Math.*, **37**(2) (2004), 299-308.
- [3] S. S. Dragomir and A. Sofo, Ostrowski type inequalities for functions whose derivatives are convex, Proceedings of the 4th International Conference on Modelling and Simulation, November 11-13, 2002. Victoria University, Melbourne, Australia. *RGMIA Res. Rep. Coll.*, 5(Supp) (2002), Art 30. [ONLINE: [http://rgmia.vu.edu.au/v5\(E\).html](http://rgmia.vu.edu.au/v5(E).html)]
- [4] S. S. Dragomir and Th. M. Rassias (Eds.), *Ostrowski Type Inequalities and Applications in Numerical Integration*, Kluwer Academic Publishers, Dordrecht, 2002.
- [5] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Inequalities Involving Functions and Their Integrals and Derivatives*, Kluwer Academic Publishers, Dordrecht, 1991.
- [6] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic Publishers, Dordrecht, 1993.
- [7] B. G. Pachpatte, A note on integral inequalities involving two log-convex functions, *Math. Inequal. Appl.*, **7**(4) (2004), 511-515.
- [8] B. G. Pachpatte, A note on Hadamard type integral inequalities involving several log-convex functions, *Tamkang J. Math.*, **36**(1) (2005), 43-47.
- [9] B. G. Pachpatte, *Mathematical Inequalities*, North-Holland Mathematical Library, Vol.67 Elsevier, 2005.
- [10] B. G. Pachpatte, On Ostrowski-Grüss-Čebyšev type inequalities for functions whose modulus of derivatives are convex, *J. Inequal. Pure Appl. Math.*, **6**(4) (2005), Article 128.
- [11] J. E. Pečarić, F. Proschan and Y. L. Tang, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, New York, 1991.